<ERVIFEEREBE-—2F2IVCI/IRERE—ER>
(ERE3054RA10H8BH)
* (). E%E{E(100Ba/ke) X -RIEH (HH)

i HERI Y2 TILE i
HEXXRE Hi
34 R } 2 3:3) \. E=P=1 MRiE LiERY Wh &
17 2| s | 16(11). _9_4_(2_9____3__(_Q2____1_8_§5_) __________ REJQION B = 144
IERE| suer suer + 20 2 6.4 13 :+ (55)
(oo L) ~ ~ oy ~ '
Ba/k g 890 11,000 * 64 = 240 14, 000
Vx0T _ﬁj’%ﬁ%&___:__1_§]_)__E_ZQ_(_4_)__:__________3_2_£6_)____?a_(9_)__5 ______________ | 56
g = ®E R E - . 10 & . 29 (11)
(eHnys 190 ¢ ~ & 5 ~ 1 o~
Ba/kg + 200 - « 370 = 35
o _ﬁj’%ﬁ%ﬁi__:__2_KQ_)____2_8_(_0_)_____7_(_Q)___:__2_(_0_)___:________E__3_§92__:_ _______ 2 42
BMERE: 6.1 1 suer 1 swer » : P ommer - (0)
(EYmL) v ~ v~ x o~ E mmey 8 1o~ '
Ba/kg * 14 + 14 = 8.8 : r12 '
Y RU | wEss 2 3(2) 2 1(0) 5 . = 100 5 100) 5 . L i 0
“mEEE:. 83 : : : : » (2)
(L) v~ 1+ b3 % : 5.8 1 59 : : :
Ba/ke 3 160 ; : : : :
NIVHE | HEER 2.5(0) 4o P G DI IS I () - S s 1
RERE . 6.1 3 H H . . . (D
(¥ L) E E ~ E 51,3005 E BT E :
Ba/kg * 31 . ' ' '

RAE - | mEss | [.200) | . 100). ] 1€0) ... 1300 7
=l I = MERE Bes BT (0)
(L) ~ BT B s ~

Ba/k g 14 19
SO | WM || AWM) | 40| 60) | ____ /... [/ 1 14
BRERE 140 17 Bed (5)
(L) ~ ~ ~
Ba/k g 340 240 34
JOY X | mEsR L 2 1.00) R T S . a1
BARE | ; ; 5 5 ; ; 0
(EomL) » 27 - . . . . .
Ba/k g .
H 22 155 10 59 11 17 3 2717
(14) (37) (0) (13) (0) (10) (0) (74)
MEICEBER: [ BB HEHE DI L AR
KBICKD, BREEZEADLOFBLLTLAHIK ¢
AP T Y
V&) 0 3>, Brh, BE, £F, BEEHBEK
0 TooBN2E
Y RY-oBRE2H
AL A E-EBREE
¥ A E-oRLE DhEHK
:71_\~ :)jj‘_)zgxcps /E\ﬁs %Iis ﬁxlii‘ml:
J Y F-oRREE



